
1.A.  (8 points) 
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1.B. (8 points). 
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Question 2. (15 points) 
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Question 3. (16 points) 
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Question 4. (15 points)  
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Question 5.  

5.A. (10 points)  
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    ,  almost no current for reverse-biased voltage 

 

 

 

5.B. (10 points)  

The minority carrier electron distribution changes linearly with distance. 

The minority carrier electron current density  
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Question 6. (18 points)  

6.A. (8 points)  



 

 

 

6.B. (10 points)  
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  (solved graphically or by approximation) 

0.454aV V 

 

 

 

 

 


